¢

sen2+ sen-
‘ ‘ ‘ BSC100N06LS3
o
M1
o] Tcm v2 RS ‘»4
E ser=0.03 4 M
T m Re TS 1V5
" 10k
Vin INTVce EXTVcc L1 R6 vout
Runi Run2 s
15 0.005 v4
c1 C24 T Rser=0.000001
Pgood1 Pgood2 FDMS86500D0 _ M2 Te =
R7 ﬁ = lop 660p SINE(0 0.05 14000)
—
1 here
—TG1 TG2 R10
10k
R2
c7 che
167 oo .| NORMAL2
100n 100n
» T ALTERNATE 2
vib *
U1 J -
V3 ’— BG1 BG2 senl+ sen- 4300
28 BSC100N06LS3
i sen Sensel+ LT Sense2+ en2+ R16 Ri
Rser=0.001 114+ Tco e  ma 0.15 0.15
sen 1 1 sen R12 =
- Tin n .
Senset- Sense2- / » — RIS R20 10A 10A
22 22
LTC3892 10k
Vib1 Vib2
| ® b & ' L2 R11
R4 c3 s 0 ‘ ‘
5H 0.005
1608 10n 1 itht Ith2 |- i
Gt C10 1t R13 FDMSBSSOODﬁ M3
ﬁ —— Track/SS1 Track/SS2 d —
220p 100p 100p % 1
ILIM=0V R8 R15
means 50mv. — |lim Fre: 10k — ;
sense. Floating a 36K 14000HZ -_ CROSSOVEHI
means 75mV v =
" P" Margin = 63 degrees
VPRG1floated | GND pRvset DRVUV DRVce
means variable
output % lcn PULSE(0 5 0 10n 10n 2500n 5000n)
Rser=0.1
INTVCC TW
s s s o I
oLt e Injection source v
DRVcc to 10V -tran 0 5m 10u startup uic inserted to
investigate feedback

loop.

--- C:\forum\dual buck\Dual Buck LTC3892 28VIN to 1V5 at 20A 200KHZ.ASC ---



